r_/ﬁ”

q\u'xrw o
0t
JU/ X

hu ) .L ’:IL

A

AP CS Unit 4: Classes and Objects

Exercises

Questions 1 to 14 can be answered after covering the first 2 pages of notes.

1. Write what is displayed in the space provided.

public class Runner {
public static void main(Stringf] args) {
Thing w = new Thing();
w.set( 3 );
int num = w.get();

(Q) System.out.println{ num );
Thing joe= new Thing( 12 );
joe.set( -5 );
num = joe.get();

4 System.out.println( num );
}

public class Thing { _
private int x; i\ psane var
public Thing() { 7/ ¢oasvud
x=35;
}
public Thing(intn) {  // L.pes)
X =1,

}
public int get() {

return x;

}

public void set( int h) {
x=x+th;

}

}

Given that the code to the right compiles,

2. The first line of the Arg class constructor is:
a) public Arg()

b) public void Arg( inta, intb );

é public Arg{int a, int b )

3. The first line of the avast method is:
a) public avast()

(b)) public void avast()

¢) public void avast(int x )

4. The first line of the parrot method is:

a)) public void parrot ( double x)

b) public double parrot (}
¢) public void parrot ( int x )
d) public int parrot ()

5. The first line of the ayeMatey method is:

public int ayeMatey( double x }
— ( ) public int ayeMatey()
&/

oy public int ayeMatey( int x )

' d) public void ayeMatey()

public class PirateRunner {
public static void main(String[] args) {

Arg g =new Arg(5,6);

gavast(); £L- wo @arei,
AU o

g.parrot(4.78 ); . ook ctderh

int x = g.ayeMatey(); «— H/\"u

System.out.println( x ); A

} C
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6. Write what is displayed in the space provided.

public class Rumpus{

private int a, b;

LS public class Bunny { . . .
f public static void main(String[] args) { public Rufp; s (intnl, intn2 ) {
Rumpus roo = new Rumpus( 3,7 ); ﬁ _ II;Z{
s intn=roo.clang( 5 }; 1 ’
System.out.println( n );
W roo.roar(); public int clang( intk ) {
?_ n = roo.get(); intn=a+b+k;
System.out.printin( n ); refurn n;
) }
} public void roar() {
int ¢ = a; C3
a=b; o F
7. In the Rumpus class, name all the: b=g¢; ' 3
parameters: __n1, 2 K }
instance variables: __ 0o , b public int get()«'{
retfurn a;
Jocal variables : ¢, n b
}
8. Assuming the code compiles, select the TRUE public Superman( int x, inty ) {
statement(s). . r double w=x+7y;
This is a method. YCUM- @\‘)“‘ v=w"
v’ This is a constructor.
—— }
4 _ The name of the class is Superman.
There is not enough information to determine the
name of the class.
9. Name the following (if none, write “none”
The parameter(s). * 9 L
' La e chasS
The instance variables(s). V&~ ot e d»ﬁ*\ M‘A u._ﬁl &N\Wy n e
The local variable(s). W
10. The Apple class has at least how many different // code inside the main method
constructors? 2
11. What does the spit method probably return? pothi a Apple core =new Apple( 8 );
. t 'tO.
12. What does the eat method return? 147 core.spits
13. In the last line, what does the mmm method return? Apple sauce = new Apple();
W\l\ \7\/\:& , ?m\on\o"j AN inJr Since int X = sauce.cat( 71 );
G ﬁV Aﬂ 1 W e Hasre (s an s System.out.printn(core.mmmy());
A Las bance. var”
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14. In the main method below, do the following:
- create a Box object 2 f# wide by 6 fit long

- call the getArea method and display the result
- call the makeBigger method and double the
dimensions of the box

- call the getPerimeter method and display the
result

public class TestBoxes {
public static void main(String[] args) {

Box  wabi = qew B/, 23
Vet mPﬂv\ © mv\@o\( cxotzfm&u(_h
g st |\'ﬂ( [W'* J h‘\'v \W\‘))( e w‘pjh"ﬁ?t.)}

m\\gﬂx Na‘m@wa“ ( 2 9\

(}\Wv‘o\ﬁ mu?&“m = mu\%g){ %AQ@,(; wpher L)',

public class Box {

private double len, width;

public Box( double In, double w ) {
len =In;
width = w;

}

public double getArea() {
return len * wid;

}

public double getPerimeter () {
double p = 2.0*(len + width);
return p;

}

¢ " . public void makeBigger( double percent ){
3 ( e “BQ%\Q’ len = percent * len;
width = percent * width;
h 3

h

P
15. What does this display? Bixt g | boolean b = false;

dtrat, , false 2 AL 4 PR for{intn=1;n<4; n++){

Sy 2 b = lb;

e System.out.print( b+" "};

&5::&. 4 }

16. The Banana class has at least how many different

constructors? j_ ek pe Cal S

17. What does the remove method retumn?

boo\fmﬂ

/{ code inside the main method

Banana peel = new Banana();

18. Write the header for the eat method in the space below:

public _void ead (1o Hime)

Banana split =new Banana(};

if { peel.remove() )

19. Write the header for the add method in the space below:

public Yo 4 odd (%MMF\' b)

peel.eat{ 32 );
split.add( peel );

Note. Java uses “‘shorf circuit evaluation” (aka “minimal evaluation™) when evaluating
compound boolean expressions. If the first part of an AND statement is false, java does not
evaluate the second expression because it does not matter. Simiiarly, if the first part of an OR
statement is true, then the second statement is ignored.

20. This compiles and runs. What is displayed.

booleanb=1(10>15 && 8<12);

& -1
hl el yeal boolean ¢ =66 =88 || -5 <=-3;
v System.out.print( b && lc);
T F ;
(= (oi=88 N ~ge="3
e il T
o= T



Note. The following generates a run-time error

inta=6;

intb=a/0; // javalang ArithmeticException: division by zero
Though this code runs: . Lo Mas o ot puur& O |

doublea=6;, .- ™3 J*° S ?“m A yery ety S wma 'l

double b=a/ 0.0;

System.out.print( b ); /I prints Infinity

qi
We will not discuss why dividing a double by 0.0 yields Infinity. WW 4 Ko o
be 0.0 s woratheall N 2D WW g‘b‘u{'
21. Ifx =0 and y = 6, what is displayed? mtx, y;
B 274 b ok { |//x and y are assigned values
axeasted , OO

22. Ifx =0 and y = -3, what is displayed?

failure, - AvibheathicByghi

if{y<x&&10/x>0)
System.out.println{ "A" };

else if (Mathsqri{ x ) <1 ||y>35) -

System.out.println{ "B" );

Lvanthis, |23, Hx~w4MMy 8 (ﬁﬁ@;{zmzﬂ“lﬁhe
\rw wiirdo b Ahss 4 {ned)  System.outprintln( "C");
_ P

24. What is displayed?

String s = "ok go!";  // one space between words

System.out.println( s.length() ); < gpve-s wt Vemg

25. What is displayed? O System.out.println( "animal".indexOf( "a" ) );
26. What is displayed? t} System.out.println{ "animal".indexOf( "a", 1) );
27. What is displayed? - String s = "Havana";
System.out.println( s.indexOf( "a",3 ) )
28. What is displayed? String s = 'fﬂoor"; o5
2223 for (int n = 0; n <s.length(); n--+)

System.out.print( s.indexOf{ "o", n ) );

29. What is displayed? Cace o atters
15

String s = "The theater is the best.”;
System.out.printn( s.indexOf{( "the") );

30. What is displayed? v
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String s = "The: theater is there™;
intn=0, loc=10;

- « )
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do { -
loc = s.indexOf( "e", loc );
H(loc>=0){
loct++;
it
} 2D
} while ( loc = -1 && loc < s.length() );
System.out.println{ n };
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31. What is displayed? - String s = "dooyway".substring( 3 );

*4 System.out.println( s );
paal] .
32. What is displayed? e String s1 = "apple"; il T eppe
P s1 =sl.substring( 2 ); g ple
System.out.println( s1 );
33. What is displayed? String s1 = "apple"; . -
ppe : sl.substring(2); &— Must assigh %‘waw‘%fﬂ&% "o
. ; . g A SSARI
Shrimve are 1oindnble, System.out.println( st ); [t w’wk)
34. What is displayed? n String s = "soda";
33 ﬁ for (intn=0; n <=2; n++)
Ao 2 System.out.println( s.substring(n,n+2) );
35. What is displayed? n String s = "ape";
e pe apl i for (intn=2;n>=0,n--)
0 System.out.print( s.substring(n ) );

/3__6. What is displayed? String s1 = "gr8";
G _Q) grd SJm'\,\ﬂ s Arte sl.toUpperCase();

b) GRS \ Aataole. System.out.println( s1 );

c) Grg

d) GR*

37. In the string literal, there are 2 spaces before the first String s =", ,one dog";
word, one space between the words, and 2 spaces after the | String s2 = s1.trim();

second word. System.out.println( s1.length() );
What is displayed? 11 System.out.printin{ s2.length() );
q.
38. What is displayed? String s1 =""; bLiank char
O intn=s1Jength();
System.out.println{ n };
39. What is displayed? : St:t{mg sllT m;ltio ‘3?3—, P no where
intn=sl.len ; v,
ull VV Wwﬂ‘ it System.out.printin( n }; “;Y?z t.: )

40. This compiles and runs but if the import java.util.Scanner;

user enters 4i, the response is ? .
public class Problem. {

What is wrong with the if statement? public static void main(String[] args) {

String s = "hi";
9 Scanner sara = new Scanner( System.in );
! System.out.println( "Say something." };
N ~ String answer = sara.nextLine();
k S\MJWM\ S Nﬁ if (answer =3 )

N System.out.println( "You said hi!" );
W ( VAT Q—W'(S (53) else

System.out.println( "?" );

5
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41, What is displayed? DL String s ="The cow sai%@mooo@."';
o O intn=0; 20
i | for (inti=10; i < s.Jength(); i++){
H Vonghia s =0 String sub = s.substring(i,i+1);
if {(sub.equals("o"))
-t
}
System.out.printla{ n );
42. This code should count the number of times | String s = "the withered breatpg"; N _L,__
that “the” appears in 5. It compiles but throwsthe |. b 2! g
following runtime exception: mtn=0; . 20 &
StringlndexOutOfBoundsException for(inti=0;i< s.length(); i) [ 4
What does this mean and how do we fix the code? : 2
WRKL St D “_o_lr . ond String sub = s.substring( i, it+3 );
P "y ! . M. & \‘(‘\
PLLESS \3"\5‘7 e gt 0 Ie 3 B sub.cquals("the") )
iz 3 L s "%J'H“{‘ ' o+t
pmd 15 ol il Un poga )
Wt Yonl s 20| _
buk we a %{‘J _ vv[llgstem.out.pnnﬂn( n
43. What is displayed? String s = "That ,was great, Squidwardl,, “;
s'1="All those wrong notes you played.";
) 5 s+="made. it sound more original. . ,.";
: s = s.trim(); Q(f’/ﬂd‘rc 4 gAvilm L) ;
int count=1;
44, In general terms, what does this | int pos =0;
code do? while ( pos < s.length() }{
pos = s.indexOf( " ", pos );
povkiirs s paces . if (pos > 0){ 5
Ak ’[‘él(w& i&ﬁ"&/ String temp = s.substring( pos-1, pos );
if (temp.equals(" "))} <+
count++;
¥
pos++;
} else
break;
b
System.out.println count );
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